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POLITICAL SCIENCE (OE)
Indian Polity : Issues and Concerns
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SECTION - A/3%en0 — &

1. Answer the following sub-questions. Each sub-question carries one mark. 10x1=10
83 YN WI-TI NN YOO, TIEROT WT-TI R WO WOBT.
(a) What is National Integration ?
m%eom mﬁéﬁéé RO0TTe ?

(b) What do you mean by Social Harmony ?
TOWIOWT FOTOTF 30D WTE SPR0O.

(c) What is social system ?
TOI033 5@% D0TTe 2

(d) Define caste.
2S0DT), WYETAIA.

(e) What is language ?
OR AOTTEI ?

()  What do you mean by Religion ?
PRFT WTE SP0.

(g) Write any two factors of development.
@295@%033 OSPRYTOWIR RTW WOINTI), WBCW0.

(h) What is Regionalism ?
TRECABE 0TTED ?

(i Name two causes of corruption.
PBWIOTT DTW TTLNRYR, BROKD.

(j) What is a celebrating diversity ?
ﬁdébc%éoja 3230 Q0TTEI 9

AR TAERT TR m P.T.O.
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SECTION - B/Qen — 2

Answer any four of the following questions.

3 39NT CIRPTTUR Ty, TIH PWI0R.

Explain the problems of National Integration.
TOREOD a;oéésééofn smﬂéﬁ@@i NWORD.
=

Explain the characteristics of caste system.
308 wa@ﬂ@ofn MOE—-OBENTI, WIWOAD.

Write about parliamentary commission on language.

GO FOWORAT FOBIT BO3RENT Wi TOWD.

Discuss the problems of development in India.
$RT3TY @&35@{5@7% TOWORAT smﬂéﬁ@@i BBFR0.

Explain the importance of celebrating diversity.
ﬁese‘bt%éoda 523050 magwmq 89R0.

Discuss the role of language in India.

$OTBTYT FHOTWOD TWIW, W R0.

SECTION - C/Q%0n — &

Answer any three of the following questions.
33 FPNT CIVF)TTOTWTR TR @%ﬁ@ﬁ SUBOR.

Describe the characteristics of social harmony.
ROTWIVLT TOTOWE BOD OTEANTT), DWORD.

Discuss the impact of caste system in India.
PRTITY 08 TP S0D TOFITNTI, e 0.

Write a note on Indian Traditions.
03e0 BOTWORNY 273 €3S 22TAWD.

Explain the reasons for the growth of regionalism.

TRT3CAFIOD YW TTEANTT), DWORD.

Explain the causes and remedies of corruption.
POLII0T FoTL0 WY DT TRINTRY, WDWORD.
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4x5=20

3x10=30



